
Los climas de España 

 

Hay	
  5	
  climas	
  diferentes,	
  que	
  son:	
  mediterráneo	
  de	
  interior,	
  mediterráneo	
  típico,	
  oceánico,	
  de	
  
montaña	
  y	
  subtropical.	
  

	
  

Ahora	
  voy	
  a	
  hablar	
  de	
  cada	
  clima:	
  

Mediterráneo:	
  hay	
  dos	
  tipos,	
  mediterráneo	
  típico	
  y	
  mediterráneo	
  de	
  interior.	
  

• Mediterráneo	
   típico:	
   está	
   en	
   la	
   costa	
   mediterránea,	
   sus	
   temperaturas	
   son	
   poco	
  
extremas	
  porque	
  está	
  cerca	
  del	
  mar,	
  sus	
  precipitaciones	
  son	
  escasas	
   ,	
   llueve	
  más	
  
en	
   otoño	
   (llueve	
  más	
   en	
   octubre)y	
  menos	
   en	
   verano(llueve	
  menos	
   en	
   julio).	
   Su	
  

vegetación	
  típica	
  es	
  un	
  bosque	
  mediterráneo	
  que	
  tiene	
  arboles	
  como	
  alcornoques	
  
y	
  arbustos	
  como	
  carrascas.	
  

	
  

• Mediterráneo	
  de	
  interior:	
  Esta	
  en	
  el	
  interior	
  de	
  la	
  península,	
  sus	
  temperaturas	
  son	
  

extremas	
  porque	
  al	
  estar	
  en	
  el	
   interior	
  de	
   la	
  península	
  está	
  más	
  alejado	
  del	
  mar,	
  
sus	
  precipitaciones	
  son	
  abundantes	
  y	
  llueve	
  más	
  en	
  diciembre	
  	
  y	
  menos	
  en	
  julio,	
  su	
  
vegetación	
  es	
  igual	
  que	
  en	
  el	
  	
  mediterráneo	
  típico.	
  



	
   	
  	
  	
  	
   	
  
• Oceánico:	
   Está	
   en	
   la	
   zona	
   norte	
   e	
   la	
   península	
   ,	
   sus	
   temperaturas	
   son	
   suaves	
  	
  

porque	
  está	
  cerca	
  del	
  mar,	
  sus	
  precipitaciones	
  son	
  abundantes	
  y	
  llueve	
  todo	
  el	
  año	
  

y	
   como	
   llueve	
   todo	
   el	
   año	
   su	
   vegetación	
   es	
   abundante	
   y	
   tiene	
   plantas	
   que	
  
necesitan	
  mucha	
  agua	
  para	
  crecer	
  como	
  por	
  ejemplo	
  el	
  roble.	
  

	
  
• De	
  montaña:	
  Está	
  en	
  las	
  montañas	
  y	
  al	
  estar	
  alto	
  son	
  frías,	
  y	
  las	
  precipitaciones	
  son	
  

más	
   o	
  menos	
   abundantes	
   (depende	
   lo	
   alto)	
   llueve	
   todo	
   el	
   año	
   pero	
   en	
   otoño	
   e	
  

invierno	
  más,	
  su	
  vegetación	
  depende	
  de	
   la	
  altura	
  como	
  por	
  ejemplo	
  en	
   las	
  zonas	
  
bajas	
  hay	
  pinos	
  y	
  en	
  las	
  zonas	
  de	
  cumbres	
  hay	
  piorno	
  y	
  praderas.	
  

	
   	
  	
  	
  	
  	
  	
  	
   	
  
• Subtropical.	
  Es	
   típico	
  de	
   las	
   islas	
  canarias	
  sus	
   temperaturas	
  son	
  calurosas	
  porque	
  

están	
  cerca	
  del	
  ecuador,	
  sus	
  precipitaciones	
  son	
  escasas	
  todo	
  el	
  año,	
  su	
  vegetación	
  
depende	
  de	
  la	
  zona	
  (baja:	
  palmeras,	
  media:	
  laurisilva,	
  cumbre:	
  pino	
  canario)	
  

	
   	
  	
  	
  	
  	
  	
  	
  	
  	
   	
  

	
  

	
  


